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' Name the organisms which utilize complex substances and break them down to simpler
[orms,
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Write any one method to induce current in a coil.
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Write the name of the substance whose vapours are used to run the furbine of the geperator of
ncean thermal energy plant ?
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The reaction of metal *X’ with Fez() is highly
[dentify the metal "X, Wrile the chemical equation €

5 = el w0 e wifAe T F O E e S A

L) AR e
@) e e o e 0 T O B9 R s st ¥ v
T i fafE R

i) b
What is observed when carben dioside gas is passed through Emewater
i) for a short duration

()  for long duration ? Also write the chemical equations for the reactions imvolved.
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. ' Tow does our budy maintain blood sugar level 7

7 29 4TIt T Wl B R ST & e
(i} Ca0 +H,y0 - CalOH);
fi}  3BaCl+ Al (S04l = 2AKC; +3Ba50,
i} 2 FeS0; ————s FeyOg + 500 +504
Name the type of chemical re-ac;inn representad by the fallowing equation |
{il Ca0 + H,0 = CalOH);
(i) 3 BaCh#Al, {SOyly = ZAIC +3Ba50,,
i) 2FeSOy —Hm-—lFEzCh+EI31+EIJHI - 1
g wuﬂa@maﬁngmﬂmﬁﬁﬁ%ﬁﬁﬂﬁmmﬁrm'tMMW%: 3
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T T | et
Awhilem&lﬂu:edp:n‘daiﬁusedb}rdmmfnrﬂl
{a) - Write chemical name and formula of the powder.

(5)  When this white powder is mixed with water a hazd solid mas
balanced chemical equation tor this change.
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- Why some metal surfaces acquire a dull appearance when they are exposed to moist air 7
v Write colour acquired by the surfaces of copper and silver in such situation and also write the
chemmical names of the substances due to which 1t happens.
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List two observations that determine that a chenﬂ‘iﬂ:ﬁm has 'Iml:ul phm aﬁ:mg uqu;
correspanding baksnced chemical equations for the justis : bser :
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(i)  9FE T A= E gud 95 oty 3
(i) T EE A ¥ A | YW‘P
Idensify and name the organs where the folowing proc
{i)  Siteof the complete digestion of carbohydrates, proteins and fats. >

{iiy  The largest gland in human digestive system. -
(i)  Site of absorption of digested food. S
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(i) TR H S-S S
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MName e hormone n_ﬁqu_i_:ved for the fali::nw-ing. Also mention the name of endocrime gland
from which that hormone is secreted ;
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(i) Loweringafblood glucose.
il  Development of moustache and beard in human

(112} Lﬁgﬁg&ﬁ:mhyd:am fats and proteins.
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Eacplain how does auxin promote the growth ot a tensdiril esound a support ?
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Study the V - | graph for a resistor as shown in the figare and prepare a table showing the
values of | (in amperes) corresponding to four different values of V fin Volts). Find the value
of current for V=10 volts. How can we determine fye resistance of the resistor from this

graph? pear 1#}:@*
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(b)) T e G

{a)  State three factors om which the strength of magnetic field produced by a currént
carrying solendid depends. g
{k}  Draw circuit diagram of a solenoid 1o prepare an elecromagnet.
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alement when h}tmﬁﬂmﬁ?&lcuiateﬂn*&ﬂt Jecis
2H volbs.
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There are many limitations associated with the setting up of wind energy farms o harness
energy. Kaman wants mgenemh.elnch:nlybjrwwnﬂnﬂmhspumﬁl village in Uttar
’

{i)  Isitadvisable to sct up such wind energy farms
ANSWET.

- {ii) Write any two limitations associated ~.,;_-
{iii) Write the energy transformations which & ke | lace when wind mill is used for
generating electricity?

| T
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| Name the three forms in which energy from sea is available for our use and wrile one

| fage 6 of 11?,- : J



20

21

limitation of each.
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{(a)  Write the chemical formula of hydrated copper sulphate and anhydrous copper
sulphate, Giving an activity illustrate how these two are inter convertible.

(b} WﬁtEmEEﬁEaln&m?ﬁanﬁfnmﬂaEnfﬁmterﬂfFﬂhandG}rpﬁﬂﬂL

(a) Pl T B Y T M T @ e T
{b) T & ToTe e e -
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(i) difeas wm = SaRA = F st
(i} Wlﬂl]ﬁﬁﬁgﬂﬂﬁﬁﬁﬁmﬁmgﬁﬁ@ﬁ%qﬁ#ﬁﬁ

(a)  Describe an activity to show that metals are good conductors of electricity.
by Account for the following - 8y

(i  Hydrogen gasis not evolved whena met 1 reacts with nil
(i)  For storing sodinm metal, itis kept im

(i) The reaction of iron (TIT} odide with alumirsnm is nsed to join cracked
iron parts of machines. '

e F i A ﬁﬁmﬁﬁmﬁlmﬁﬂﬁﬂﬁ#ﬁ'%ﬁ:t?mmﬁm 5
T S S-S T E?

Duscribe the mechanism of breathing in humans. How dioes the exchange of gases poour in
Hesues? What happens to the carbon dioxide wﬁdlhmqhhmwm ?
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R=F,;+ Fp + R,
T TAF % TR Y A
643, 900 TE118 0. % o SR & we wae e TR TR S
For the series combination of three resistors establish the relation i
R=E,+ Ry + R, ‘
where the symbols have their usual meanings,
Calculate the equivalent resistance of (he combmation
6.4, 9 £} and 18 £ joined in parallel.
B @ e e o s e st ST S YT
(b) el Fifey A2 & SRR § e O e w5 sew w5 e 9 =
ST BN (S = R e E)
(iy 6 9 e a9 0 e amen i
() SR e O e e
(i) T WU AFIT & T & el F w ?
(@  Draw the magnetic field lines through and arg
eleclric current,
(b)  State whether an alpha particle will experience any force i & magnetic ield if (aipha
particles are positively charged particles) B
“{i}  itis placed in the field atrest
(i) itmovesin the magnetic feld parallel to field lines.
() itmoves in the magnetic field perp -..... cular | 1 Line:
Justily your answer in each case. | el
T
24 AT o S O i 1 T 7 i 3 Tl i o s 4 6 T s e S
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T el T §, S0 e 2 venfe a5 R ane W as o
T Ffiad =i o = o 9 =07 & Tom, waw e w8
Describe an activity with Iabelled diagram to show mata&m-:_ii-tunmrrentﬁ;;rj'ing

conductor placed in & magnetic field and its direction changes with direction of current
Hrough conductor. Name the rule which determines the direction of this force.

YFT-A/ SECTION - B

P Tt ot 2l =i 9 R T Rl & w0 Taeen 1 e =it - |
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T " _
(a) A BICE pll 7@ A 51 SEE [C“

{b) AT pPITHE B3R CF pH IR Ff 2 i £
€  CH pHEM A SRS F pH TR B o7 s £

(d) B pH A A FRCH pll AT =T 300 HAluF £

Observe  the following figures and choose the J“ ) 2
below :

Page 3af 1}, . [ C/.-f“ 1




26

(3 pHofA, Band Care equal

(b)  pH of Ais greater than pif of Band C
(<) panCisg;r‘Eats::ll‘mpHquandH

{dy pHofBisgreater than pHof Aand C

T s o, B o fEee mm@aﬁmﬁwﬁm
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Which of the following is correct about the
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calour obtained on pH paper and their pH values in the
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solution taken in test rebes A, B and C respectively?

_— i g
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(a) Eﬁufrmmiﬁh |
) fois =t wme = e vy B A
fc) T S R ——
(dy TR A T e T g o
When dilute hydrochleric acid i5 added to granm 1 a test tube, the
observation made is :
{a)  thesurface of xinc turns shining:
b)  the surface vf zinc becomes black and dull
(@  odour of chiorine is observed P e
i acolowress and odourless gas evolved with bubbles ey

1w e T okl T 3 o o guEted! A #R g = S wen: i
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()  TEAE A - T AT
TR |

() mﬂﬁﬁ—ﬁﬂﬁﬁﬁﬁmﬁﬂﬁﬂmﬁﬁﬂﬂﬁﬁﬂﬁﬂ T | Tl B
g sl T8 |
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{d) mn-ﬁmﬁ.ME-miﬂﬁﬁﬂaﬁmmﬁmmﬁm%m
fereraey =1 1 afiatia & T
Ceeta took Aluminium pieces and added them m two fest .._..-. ol B oo

aluminimm sulphate solution and ferrous sulphate solubon res _'_-_ .
d:awnbghrmﬂwhamsnfher@hﬁemmshmddhe_

{ay”  Test tube A — No reachon, I’rsttubeﬁ-—.ﬁ,]dhﬁies irom from the salt solobon.
T3~  Testtube A- Alrminium displaces alamininm from its salt solution, Test tube B -No
reacHon

7@ Test mbeﬂeﬁﬂrmcﬂm,Teﬂmbeﬂ-m%'

(d)  ‘Test tube A — No reaction, Test tube- Iron being more reactive than slaminimum o
changes the colour of the solution. " N : ?}-xﬂ )
ﬁ,"?‘-' kc.u:'j‘#
x W

e i R, fer Fer i i e el &, 3 i & g9 = frw v L
i afufipa S TE nft 2w k-,

(@) AL{SO ) 7SOy j& -
i el

I:C} FeSy !:d.} C:_:HJ; b iy e 'H.F

A student added a piece of zinc metal each to fous different test ~ itbes containing different
solutions as given below. The test tube in which no reaction W T

fa)  AR{SO =

e (¢  FeSOy (d)  CuSOs |
<
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s L, (b} 24V i©) 28V (& 12V

Two nisistances are commeched in series as shown in the di

-~ =
——— e
1340 120 e
(s
2V K
The poterndial difference across 12 {1 resistor will be :

A ® 24V @ 28V @

31 T EE t TEws § satEd o wREe w0 ges vy T8 W S

4 T T
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gE s
| e

Hireste #1 H4ifn S & w8 oy EEE g i “igy Wem
fa) wfmaxE () iy d ==
N
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) ofmzH (d)
Three students connected two resistors in paralle]l to God eguiv:
meﬂ'mdai.‘f .t

Hue

A H
T o
W ® e
R By
X

; §

Correct method to connect voltmeter is -
{a) IncromitX Incmk'

&g IncrmitZ (d) Inallth
12 vEm w9 eI & 8 WM % aF F v w6 e wE § o1

e # e ST i — - o5 ie ok

5 ﬂ.iﬁ,_ | b

e

(¢ Ko faemmd

-

.~
(d) EESEEES = »

Before testing the experimental leaf for starch ai the end of 4
for photosynthesis” it should be boiled in ; '

{a) ‘.:\fa ter
B Aleohol
{c) KOH solufion

(d) Hydrochloric acid N

33 T ERE OO, sl B § g % e e 7 3 foror e S T T S, @F 1
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£ solution In the fest
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Whale performing an experiment to study the displacement reaction, a student took agueous
solution of ferrous sulphate in a test tube, and placed a copper strip in il. No change could be
observed even after one hour. What could be the reason? Explain.

35 A 2 A am 2 e & e o T B ain e B ST
e Teihisites w1 el == T S = - T '
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In diagrams given below 2 volimeters and 2 milliammeters are shown. To verify ohm's law
what should be the correct choice fn«rvu}h:m:ndnnllmmter

200
100 300

pE——
mA
A1
£ 3
1
0 ,\“J 4
Vi
{i) Correct miliammeter fAq or Aa.
@@  Correct voltmeter Vy or Va. "-\
Give reason for your answer,
38 = i e T P ) S R SR S s A WSS T
Mﬁm&emmﬁﬂsrwﬂ:admmemaw:_ et _'ﬁﬂu:m’ﬂmmta.
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